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1. You have 1500.0 g of a bleach solution. The percent by mass of the solute sodium hypochlorite
(NaOCl) is 3.62 %. How many grams of NaOCl are there?
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2. The percent by mass of calcium chloride in a solution is found to be 2.65 %. If 50.0 g of calcium
chloride is used, what is the mass of thﬁ(. solution? S?U'e
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3. What is the percent by volume of ethanol in a solution that contains 35 mL of ethanol and 155 mL
of water? Sli (e
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4. If 18 mL of etﬂnol is used to make an aqueous solution that is 15 % methanol by volume, how

many milliliters of solution is produced?
, vl Hond 5% Bmbjen | dmvelme & sl
74:: C+”"‘“A
—\mmyloo X (JOmL_seltion |

5. What is the molality of a solution containing 10.0 g of Na,SO4 dissolved in 1000.0 g of water?
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6. How much Ba(OH),, in grams, is needed to make a 1.00 m aqueous solution? @ss,,“ llﬁ Ha&
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7. What is the mole fraction of NaOH in an aqueous solution that contains 22.8 % NaOH by mass?
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8. If the mole fraction of sulfuric acid (H,SOj) is an aqueous solution is 0.325, what is thf{percent by
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